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SCRIPTING LANCUAGE (PYTHON)
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qle, o efl-wlfrdarlq,nqifid t

Note : There are THREE sections in the paper A, B and C.

(i i ) dra q d rF rhr I + efr ru qr'il * ldt ilfrs r vlq ttn qq eio 6/ d (rc

efrru wagfruvon*wql*{ t

Answer all the l0 parts oJ the queslion No. I in Section A. Each part
carries one mark and all l0 ports hove obiective type questiotts.

(iiil effi i + E Nn t t ffi a wql * sdT 41Bq 1 eA6 Y8 t ei* or I qq

rqas dqt/sOwllsardfuq t
Ansl4,er any 6 queslions out of the E queslions in Sectioa B' Each question

carries 3 murks and to be answered within 5 lincs / 50 votdl
(iv) d*rp?* r cql t C ffi t vsi* rrr i?frs t YA* Ya s.?,6 drd ('"

t46t ts dnq / rso rqllfirdfus r

Answer any I queslions out of the 6 queslions in Section C' Each question

carries I marl<s and lo be answered within I5 lines / I 50 words'

(v) sdz tfll + afr c{al 6l frsdtr sr qN Ed Afus t
Solve all the queslions ofa section conseculively together'

(vi) qhl rtq3i I ffaT dn fr fufr t sind 34Etq fr c@ I t
Only Englkh version is valid in case of dillerence in both the languages'

+il{-q
Scction - A

l. (r) Frqftrfuat PythondrlcuffqCi'

1afomrsii6:60
lMaximum Marks : 60

Which of the following is a feature of Python Language ?

(a) r5qTr{€

(c) Qffiznfs
(a) Compiled
(c) Statically tYPed

(b) {{c&ts
(d) qnrgfrnFh

(b) Interprcted
(d) Structured Programming

(l of4) PT.0.
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(ii) ftrqltfud 3nftC*Enxftq-dril 3rrG1rciv0fici ,

7137

The conect order olprecedences among operators in ascending order is :

(a) >=,+=,&,>> (b) >>,&,>=,+=
(c) .'-=,>=,&,>> (d) &,>>,+=,>=
6o我 ‖Ы=[lo,26,38,45,6η れ ま121司用さ:
(a)  10 (b) 26
(c)  38                      (d)  62
lflist=〔 10,26,38,45,62]then liSt〔 2]win resuit:

(a)>=,+=,&,>>
(C)+=,>=,&,>>

(a)  10

(c)  38

(b)>>,&,>=,+=
(d)&,>>,+=,>=

(b) 26
(d) 62

(a) List

(C) Tuple

X=(10)
(a)  Integer

(c) List

(a) Integer
(c) List
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(iV)… 1命Tさ劇cl、引ゴ師 可w輛喪1ヽ濡さ?

Which data structure does not support indexing ?
(a)  List (b) String
(C) Tuple                (d) Dictionary
(v)静命億TぃЧ■き鍮くx司劇d dttЧさ:

Whatisthe data tyT of X for statement X=(10)?

(宙)針楡縫7¬た爾_さ :

a = 10
while a く 30 :
a + = 10
if (at 20) :
continue
print(a)

(a)   10                         (b)

(c)   20                            (d)

Matis the output offb‖ owing cOde?
a = 10
while a く 30 :
a + = 10
if (at 20) :
continue
print (a)

(b) S‖ ng

(d) Dictionaげ

(b)  Sdng
(d)  Set

(b)  String

(d)  Set
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CVti)命副1輛 事 節 麺 蒻 1れい 漁 満 械 希腋 鏑 諭 輌
t?
(a) enCOd∝ )         (b)f01 11laく )
(C)Sdメ )         (d)replace()
Which function is used for positional substitution ofvalues in a string vanable?

(a)enCOdC()         (b)fOmat()     ′
(C)蒟メ)          (d)replacく )

(宙‖)命 w access modeなに 眼ヽu希ホ≧論f輛疏 腋 、瞬u i read tt write
甲0希食R赫 偽可q:ol t?
(a)    r                                      (b)    rb

(C)rt           (d)W・
Which access mode is used for both reading and wnting in a tcxt flle without

deleting the∞ntents ofthe flic?

(→  r             (b)rb
(C)r‐「           (d)耐
ox)誦硼Expressbn,黛む書

“

れ百お やヽ。lt奇事 可ぃ さ昴活 3in(dtiも )

ty四飾 き翻 爺 弧 螂可5含満 罰 (Ltrs)爺 さ?

(a)｀d+[a― ZA― z〕 +    0)Ⅵ +[a― ZA― Z〕 +

(C) ^Ⅵ +[a― ZA― Z]+   (d)ANd+[a― ZA― Z]●

Which expresSiOn nlatches a pattem in smng」mt starts with a sequencc of digits

followed by one or more alphabets?

(a)Ⅵ +[a― ZA― zl+   0)Ⅵ +[a― ZA― Z]●

(C) ANd+[a― ZA― Z]+   (d) Akd+〔 a― ZA― Z]●

(x)DJango漏 哺`ざ1囀喘Ч・さ:

(0 賽 MVCmMЦ 劇画筒 ミ l

(b)戻 ORM(J耐れ 赫 龍 同)魚四 爾 評 前 やくolt l

・
)驀螂
―

t!

(d)褒歳 総前赫 哺Wれ фヽ。lt i
Which is the oorrect statement for DJango輸ewoFk?

(→  ItiS based on MVC design patm.

(b)It出 ∝ ORM(0晰 ∝ t Rclttond Model)SyStem.

(O ItiSamicro缶田"WOrk.
(d)It fOl10ws event‐ driven pro― ing・            (lX10

れm―■
Section― B

2.樹甲 ~¬ 「t?Li飩諭蒻爛漸哺-1
What is Sli∝ Opetton?欧メan tticing Om工       R3
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3.… 論
―

:

(1)If‐Clif‐eise a蛇

(2)WhilettIて滝セ
Explain following:                                        (3)
(1)IftliF‐eise statement

(2)While 100p statement

4● 面α町 硼 硬 珊さ?monary論師 櫛 硼 論R由哺 論論 硼 哺 |

What is dictionary data type?How do we derlnc and access the elements of
dictionary?Explain.                                                (3)

5.輛 司 れ 両械 PythOn 15面 珊 facЮH」マ田 載 司 飾 1諭ぺ l

Wnte a pЮ _in PnOn to pHnt factoHal oFa nulnber using nmclon       (3)

6 鋪 活 、崎u― 論 ¬ 国 T甘賄
―

l

DescHbe vaious ile operatiOns with exalnples.                    (3)

7 Rcgex¬ さ?5R■
'1-ヽ
論 Regex司 蒻油 恭 お 載 翻 M融 l

蝸 atis Regex?Write a pattem to match an emallin the stHng using Regex   (3)

8 軸 憫 :さ ?尋活 論 n熙 書論計q"H:。Ч:1いぜftt Ч口:さ ?
natis Package?How is a package created and impOrted in a propm?     (3)

9.Diango引Tt?調希命ゴ薇tヽ l

Whatis ttangO?WHteiも feans                    (3)
勲嗣 ―■
ntiOn_c

10.Pnon■ 鋪 活 薇 哺
―

|

DescHbe various opentors in Ptthon.                      (8)

H ustヽ
―

司 揃 ¬同¬論 可 命廟 PnOni輛 改 :

Write a program in Python that reads text from a file and writes the contents into an
another file. (S)

14. Text processing 3{tqt{t" 61 Regex in +rdr *t* grgrf} f

Explain text processing operation using Regex. (8)
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